Money - word problems

Sarah had £10. She bought a dolls house for £1. How
much money does she have left?

£ £10-£1=£

John had £10. He bought a skateboard for £2. How
much money does he have left?

£ £10-£2=£

Ann had £10. She bought a bag of crisps for £3. How
much does she have left?

£ £10-£3=£

Jack had £10. He bought a guitar for £4. How much
does he have left?

£ £10-£4=£




Kate had £10. She bought a camera for £9. How much
money does she have left?

£ £10-£9=£

Chris had £10. He bought a puzzle for £10. How much
money does he have left?

£ £10-£10=£

Natalie had £10. She bought a teddy bear for £1. How
much does she have left?

£ £10-£1=£

James had £10. He bought a book for £4. How much
does he have left?

£ £10-£4=£




